S & AR ¢

197. ® %2 K = ¥ #%
B RSB 2K WD HIBIO G BICIH I b
# 24 EFE |(FHERR LIRS H B 7|7 0 b [BBELTH|MEBLTO|SLTY| 0 (%) R (%)
(A) H5E (B) | AFH(C) 5% (#8) | 248 (WI8) | 2% (1)
A8 x| 8 B | k| B k| B L|B i‘ LB | k|8 k| B kB Y| ch| Ul k
i A1 60 4 | 27,231 13,977 13,254 12,750 12,519 415 259 — — 728 367 84 69 11 99 8 19 — — 928 91.2 945 50 6.3 3.7
61 | 27,566 14,185 13,381 12,983 12,655 450 310 — — 682 350 70 66 147 8 2 6 ~— — 93.0 91.5 94.6 4.6 59 3.3
62 | 29,430 14,982 14,448 13,614 13,630 549 401 — — 712 344 107 73 169 9 5 9 — — 926909 94.3 45 59 3]
63 |29,695 15,229 14,466 13,831 13,643 632 389 — — 655 326 111 108 143 8 3 9 — — 92.5 90.8 94.3 4.1 5.3 2.0
P U £ 29,994 15,354 14,640 14,125 13,952 536 336 — — 599 273 M 79 135 66 2 9 — — 93.6 92.0 95.3 3.6 4.8 2.4
2 29,026 14,891 14,135 13,824 13,528 472 270 — — 517 260 78 77 125 8 1 5 — — 94.2 92.8 95.7 3.4 4.3 2.5
3 27,317 13,914 13,403 13,7120 12,905 176 118 125 112 445 209 48 59 64 60 — 4 — 7 9.3 943 9%.3 2.9 3.7 2.1
£ iL
& ) 172 8 8 & 8 - - - 1 — - — 2 — = — — — —95310009%5 - — —
#F oW 172 8 & 8 8 - - - 1 - - - 2 - - — - - — 9831000 9%.5 - - -
/N ir
£ B | 26,348 13,439 12,909 12,645 12,414 176 118 125 111 445 209 48 57 64 60 — 4 — 7951 941 9.2 3.0 3.8 2.2
il (17,686 8,972 8,714 8,431 8,363 108 75 91 79 307 150 35 47 48 45 — 2 — 6 950 94.0 96.0 3.2 40 2.3
i B | 8,662 4,467 4,195 4,214 4,05 6 43 ¥ 32 138 59 13 10 16 15 — 2 — 1954943 9%6 27 3.4 1.8
#oa| 1,94 1,000 94 920 888 20 10 8§ 5 46 3 6 6 4 5 — — — — 930920 041 4.6 50 4.2
WHHE | 4,005 2,047 1,958 1,911 1,853 24 18 21 20 8 48 5 10 10 4 - — — 2940934 9.6 3.7 4.7 28
g 1497 742 785 711 41 2 3 1 2 % 5 3 4 6 4 — 1 — — 97098981 2.7 4.2 1.3
MBi| 1,59 80 7% ™5 761 13 7 7 5 3% 13 3 4 5 1 — — — — 945927963 35 51 18
A 154 813 731 78 717 13 7 3 3 13 2 2 2 4 3 — — — — 9719291 1.4 2.1 07
EHH 852 4% 417 408 406 1 - 4 2 18 9 4 — 2 2 - — — — 9550938974 3.6 4.6 2.6
S5 F | 2,701 1,330 1,371 1,25 1,323 10 14 17 M 41 17 3 3 7 7T — — — 19%.60979%5 27 3.6 1.8
Lo 1387 703 684 644 646 24 M 12 6 17 9 6 9 2 9 — — — 1930091694 27 27 28
%M ¥ 21z 179 209 1M - - - - 3 4 - 1 — 4 - — —  — 980986972 28 1.4 45
&)W 507 2% 257 239 248 1 1 5 4 5 2 — 2 2 1 — — — —9.195609%5 20 28 1.2
BRG] 404 202 202 18 18 - 1 10 6 7 2 3 4 3 1 — 1 - — 9891096 35 50 2.0
i) 3% 170 165 163 163 - - 1 - 6 2 - -~ 3 2 - — - 973959 988 3.9 53 2.4
AR 55 24 261 28 /4 — — 2 3 4 2 — 2 2 - — = 295977973 19 15 2.3
2 48 47 267 %60 21 21 12 6 1 - 11 2 2 1 2 3 — — — —93.6090.99%5 33 45 1.9
% f M m % 9% B % - - - - 1 ~ - -~ — — - — - — 994971000 06 13 -
E B 248 M9 99 134 9% 10 2 1 - 3 1 1 1 2 — — — - —9.389.99%0 24 34 1.0
AeREy I8 62 66 5 6 2 4 - - 7 1 1 - — 3 — — — - 81383994 8611.3 6.1
B B[ 1,174 619 55 59 55 2% 11 3 3 12 4 — 2 5 2 — — — — 949935064 20 27 1.1
i 3o 20 125 w5 120 1M1 2z 2 - — 3 1 - 1 2 1 — — — — 9.39.009%5 2.9 40 1.7
B # W 5 8 6 77 60 S5 - - 3 4 - - 1 1 1 — — — —9138.569..8 40 58 1.6
K &0 %7 % 8 & & 5 4 1 - 3 1 - — — — — — - - 9590894 21 3.1 1.1
FEW| 493 260 233 45 26 1 5 2 - 2 2 — — 2 — — — — — 59290 12 1.5 09
[ ) 04 50 54 48 M 2 - - - - - - - - - - 8190100 - - -
Z E B & M0 4 403 38 8 2 9 16 20 4 — 4 1 — — — — — 92609.69.7 2.9 48 1.0
WY A 451 233 218 22 14 3 2 9 16 9 3 — 3 — — — — — —90009.08.0 27 3.9 1.4
] e 7w on B 0w - - - - 4 - - 1 - — — — — _— 96094896 27 52 —
i) 7 %2 46 4 45 3 - - - 2 - - - 1 - - — — - 9489.4100 31 58 —
It W s’ 7 n % 2 - - - 5 1 — — - — — — — 9480910987 39 64 1.3
$ E X 9 5% #4 49 £ 1 1 - - 5 1 = - 3 — — — — —9.98.1 %5 0.1 145 2.3
oo 9 %5 4 49 42 1 1 - - 5 1 - - 3 — — — — —9198.195 91145 2.3
* = B 64 330 84 305 25 8 3 W 1 6 4 1 1 — 1 — — — —0459249%8 1.8 1.8 18
o ET| 268 142 126 12 122 3 - 3 - 3 3 1 1 - 1 — — — — 948930098 2.6 2.1 3.2
-2 ] 128 66 62 61 gt 1 1 3 - 1 - - - - — — —~ - —905397494 08 15 —
£ 88 67 32 3% 9 H 1 1 2 - - - - - - - — — - _—909%69%1 - - -
oW | 1 9% 6 8 8 3 1 2 1 2 1 - - — — — — — —934929%51 20 22 16

— 288 —



2 SEN & | A TR

BHE5 . 18K

cnyb
BRLTw
b (THE)

R (%)

"

%
50

9.6
92.9
93.8
97.4
94.5
98.2
97.0
94.9
9.6
94.3
96.1
94.7
96.1
96.0

9.8 96.4

9.2 %.0 21 31 1.0
91.9 93.8 5.9 54 6.3
91.2 9.9 3.3 53 1.0
9.0 9.8 1.0 2.0 -

9.0 4.0 0.8 1.7 —
98.2 98.1 0.9

9.9 97.1 2.4 3.1 14

94.6 9.2 51 54 438

93.8 97.6 3.3 4.2 24
95.6 92,9 6.9 6.7 7.1
3.0 24 3.6
92.5 97.0 2.9 2.8 3.0
97.5 94.7 3.6 2.5 4.7
93.9 98.0 2.0 2.0 2.0

—100.0100.01000 - - =

96.5
97.5
97.0
99.3
95.9
97.7
99.2
99.0

95.0 97.3 5.3 5.0 5.4

%.5 9.5 1.8 23 1.2

94.3100.0 2.5 2.9 2.1
98.6100.0 0.7 1.4 -
9.1 96.9 3.0 4.2 1.6
9.9 98.7 0.6 1.0 -
98.4100.0 0.8 1.6 —
97.8100.0 1.2

—100.0100.0100.0 1.2 — 2.3

— 99.0100.0 98.0

.o - 2.0

— 94.7 90.0100.0 5.3 10.0 -
1940 93.8 9.2 3.0 3.1 2.9
— 9.5 9.6 94.4 45 3.9 &1
— 935941 929 7.2 74 7.1
- 97.2100.0 94.1 2.8 - 5.9
— 96.3 9.4 96.2 3.7 3.8
— 97.3100.0 94.7 1.4 2.6
— 97.1 9%5.4 98.6 — -
- 97.1 95.4 98.6 - -
— 9.8 9.1 9.5 2.9 1.3
— 98.1 97.8 98.4 1.9 1.6

98.6 98.6 98.5 1.4 1.5
— 99.5100.0 99.1 0.5 0.9
— 97.1 95.4 8.8 1.6 0.6
— 87.6 80.6 96.3 13.2 3.7
— 95.0 94.8 95,2 45 4.2
- 92.8 94.2 90.9 6.1 7.8
— 97.2 95.5 98.9 2.8 1.1
— 9.3 95.3 97.2 3.1 2.2
— 98.6100.0 97.4 1.4 2.6
— 8.9 77.8100.0 11.1 22.2 —
—100.0100.0100.0 — -
— 94.7 93.4 96.3 4.1 2.5

O KR —mHITH—
s S A
# it % # RERS B B K|z oM
(n AFH(C)
il | & | & B &

- 1,021 524 497 499 477 M 2 1 15 1
% RLoiT 8 37 48 3 45 - - - 2 -
- & 200 113 9% 103 93 3 - 6 - 1
A 196 100 95 99 92 3 - - 1. 1 -
ol 250 120 134 114 126 8§ 2 = 2 -
£ B M 111 57 54 56 53 - - - 1 -

ZEW 186 9% 70 93 68 - - 1 3 1 - -

HomB 177 9 84 88 80 - 1 - 4 4 1
el ) 90 48 42 45 4l - 1 = 2 1 -
5w AT &7 45 42 4339 - - 2 3 1

% K M| M4 3B W6 62 353 2 4 1 9 10 -
%AW 207 106 101 98 98 1 4 - 3 2 -
W AT 308 158 150 154 142 1 - 1 4 6
K&am 100 49 51 46 50 - - 1 1
BMH 7?4 457 - - - -

ERllR:) 5 20 % 19 3% - - - 1 1

B & | 1,334 687 647 663 637 2 1 4 16 4

X BT 200 105 95 99 95 - - 3 -
Z R 135 73 62 72 62 - - 1 -
A~ £ BT 271 143 128 136 124 - 1 2 6 2
il 175 97 (! 77 - - 1 1 -
=AU 1221 62 59 61 59 - - - 1 -
K& R 101 46 55 45 55 - - - 1 =
W 82 39 43 39 43 - - - - -
B 97 48 49 48 48 - - - -1
NG 19 10 9 9 9 - - - 1 -

) 133 64 69 60 65 2 - 1 2 1

B | 36 179 177 173 167 - - 1 6 9
8 i 133 68 70 64 65 - - = 4 5
BB % 1 1719 16 - - - - 1
W7 {1y Wy 108 5 52 54 50 - - - 2 2
KL 743% 3% 3% 3% - - 1 - 1

£ BE®B| 13 66 13 6 N 1 - = = -

R 1365 73 62 T2 1 - - - -
& B | 8y 45 452 43 45 11 2 18 4
EEW| 106 4 6 4 60 - - 1 1 -
K F BT 140 74 66 73 65 - - 1 1
& B AT 218 107 111 107 110 - - - 1
B W 312 152 160 145 158 - 1 1 4 1 -
B A 121 67 54 4 52 1 - - 12 1 -

R EM| 3%9 193 166 183 158 - 1 1 9 6 1
REREN ) 188 104 77 98 70 1 1 5 6 -
1 B 178 89 8 8 88 - - - 4 = 1

mE B172 179 164 174 - 1 2 71 3 -
(I 1“4 67 77 61 7 - - 1 - 1 -
2 18 9 9 7 9 - - 2 -

i 18 5 13 5 13 - - - - -
i 171 91 80 & 77 - 1 1 5 2
£
# H| 797 388 409 388 409 - - -
i3 | 797 3/ 409 3. 409 - - -
#E oM 304 126 178 126 178 - - -
M A i 28 1t 17 11 17 - - -
5% 7w 1720 17 - - =
Ll Tl T I VA S - - -
24T 37 19 18 19 18 - - -
tH @ 9 7 2 7 2 - - -
ol 91 51 40 51 40 - = =

—100.0100.0100.0
—100.0100.0100.0

—100.0100.0100.0
—100.0100.0100.0
—100.0100.0 100.0
—100.0100.0 100.0
—100.0100.0100.0
~100.0100.0 100.0
—~100.0100.0100.0

[ R A |

[ A I

[ T

HR [ERIEARA | B



